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MIPS Lab Submission II

Alexander M. Aguilar
April 29, 2020

1 Question 2 Rewrite

File Edit Run Settings Tools Help

= Run speed at max {no interaction)
[Cle®aR[e [s] [+ 5ale
Edit | Execute | {[ Registers | Coproc1 | Coproco |
q2-rewrite.asm Name Number
1 # Alexander M. Aguilar [4]
2 %
3 # Write a HIPS progran using a loop that multiplies two positive numbers
4 # by using repeated addition. For exanple, to nultiply 3 * 6, the progran
S # would add 3 six tines, or 3+3+3+3+3+3 r
6 #
7
8
9 =
10
1
12
13 # miltiplication string
14 # equals string
15 # input a
16 # dnput b
17
15 text
15 globl main
20
2 mein
22 # Initialize variables
23 L a # get dinput value a
20 i3 §11, bb  # get input value b
B
% move  $a0, §t0  # input a is the value to add Ll
Z__tove sl ¢ input b is the number of tines to add input a =l
] IL D

Line: 16 Column: 13 (] Show Line Numbers

Mars Messages | Run /O

5% 10-=50
- progran is finished running (dropped off botton) --

# Alexander M. Aguilar
#

# Write a MIPS program using a loop that multiplies two positive numbers

# by using repeated addition. For example, to multiply 3 * 6,
# would add 3 sixz times, or 3+ 3 + 3 + 3 + 3 + 3

#

# Registers:

# £t0 = input a
# £t1 = anput b
# £t2 =a *b
.data
mout : .asciiz " * " # multiplication string
eout: .asciiz " =" # equals string
a: .word 5 # anput a

the program
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bb: .Wor

.tex

.glo

main:
# Initia
1w
1w

move
move

1i

jal

nop

move

J
nop

d 10
t

bl main

lize wvariables
$t0, a #
$t1, bb #
$a0, $tO #
$al, $t1 #
$v0, 0 #

multiply #

$t2, $vO #

done

# input b

get input value a

get input value b
input a is the value to add

input b is the number of times to add input a

set the resulting sum to O

store multiplication result

# Multiplication subroutine

#
# £a0
# fal
# return £v0
multiply:
sub
swW

beqz

addu

subi

# recurs
jal
nop

mcomplete:

1w
add

jr
nop

done:

- number

- number

to add
of times to add

- result of multiplication

$sp, $sp, 4
$ra, ($sp)

$al, mcomplete

$v0, $vO, $al
$al, $al, 1

ive call

multiply

$ra, ($sp)
$sp, $sp, 4

$ra

# push the return address

# if £al == 0, return

# sum += input a
# al--

# pop return address

# return to caller
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# Finished, print results in the format of a * b

1i
move

syscall

1i
la
syscall

1i
move
syscall

1li
la
syscall

1i
move

syscall

$vo, 1
$a0, $t0

$v0, 4

$a0, mout

$v0, 1
$a0, $t1

$v0, 4
$a0, eout

$vo, 1
$a0, $t2

sum




